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QUESTION 1

One thousand concurrent users stream video to their laptops. A 30/70 split between 2.4 GHz and 5 GHz is used. Based
on client count, how many APs (rounded to the nearest whole number) are needed?

A. 26
B. 28
C.30
D. 32

Correct Answer: C

QUESTION 2
Which order is accurate for a firmware upgrade on MX appliances in a high-availability configuration?
A. starts on the secondary MX appliance and then occurs on the primary MX appliance

B. starts on both MX appliances at the same time and then reboots both appliances after traffic on the primary MX
appliance ceases

C. starts on both MX appliances at the same time and then immediately reboots both appliances
D. starts on the primary MX appliance and then occurs on the secondary MX appliance
Correct Answer: D

Reference: https://community.meraki.com/t5/Security-SD-WAN/Firmware-Update-to-HA-unit/td-p/47865

QUESTION 3

What is a feature of distributed Layer 3 roaming?

A. An MX Security Appliance is not required as a concentrator.
B. An MX Security Appliance is required as a concentrator.

C. All wireless client traffic can be split-tunneled.

D. All wireless client traffic is tunneled.

Correct Answer: A

Reference: https://documentation.meraki.com/Architectures_and_Best_Practices/Cisco_Meraki_Best_Practice_Design/
Best_Practice_Design_-_ MR_Wireless/Wireless_Layer_3_Roaming_Best_Practices
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QUESTION 4

Air Marshal has contained a malicious SSID.

What are two effects on connectivity? (Choose two.)

A. Currently associated clients stay connected.

B. New clients can connect.

C. Currently associated clients are affected by restrictive traffic shaping rules.
D. New clients cannot connect.

E. Currently associated clients are disconnected.

Correct Answer: DE

QUESTION 5
What happens to an unsupervised iOS device when the "Meraki management" profile is removed?
A. The "Meraki management" profile is removed. All configuration profiles that Systems Manager pushed remain.

B. The "Meraki management" profile is removed. All configuration profiles that Systems Manager pushed are also
removed.

C. The "Meraki management" profile is removed and then pushed automatically by Systems Manager.
D. The "Meraki management" profile cannot be removed.

Correct Answer: B
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